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Topic:- LAW PHD 52

1) Which of the following category of persons do not qualify as workmen under the industrial Disputes Act, 19477

[Question ID = 69T8)

1. & person engaged in technical work [Option D = 27906)
I_ A pevson engaged in clerical work [Opticn 1D = 27907)

3. A person engaged in managerial work [Option 1D = 2P5908)
4. & person engaged in operational work [Option 1D = 279049]

Correct Answer --
& 4 person engaged in managerial work [Option 1D = 27508)

2) In which of the following cases, did the Supreme Couwrt of India hald that Government employees have no right te strike?
[Question ID = 6979)

1. Rangaswamd v. Registrar of Trade Unions, Madras, AR 1962 Mad. 231 [Option 1D = 277900]
I TJK Bangarajan v. Government of Tamdl Mado & Ors, 2003 (&) SCALE 84 [Option 1D = 2P511]

3. Mindustan Antibiotics Ltd v. The Workmen, (1967) 1 5CR 652 [Option 1D = 2F912)
4. State of Madras v. C.P. Sarathy, (1953) 1 1L 174 (5 [Option 1D = 27913]

Correct Answer --
& T Rangarajan v. Government of Tamdl Madu & Ors, 2003 (&) SCALE 84 [Option 1D = 2P911]

3) Which of the following statements isfare incorrect?
i) The recently launched Gl logo is to operate as a certification trademartk.
i} The Gl logo can be used

i} The logo s aimed to make it easier for consumers to identify authentic Gl products and thereby| protect the interests of
genuine Gl producers.

i) The logo reads “Atulya Bharat ki Amulya Midhi® in Hindi language.

[Question ID = 6980]

1. &ll are wcormect

[Option il = ¥Fen4]
I. Oaly {ii] is incormect

[Ootion 1D = 27915)
- Oy i} & incormect

[Option il = ¥Te04]
4. Only fivh is inoommect

b

[Option 1D = 27917]

Correct Answer --
& Only i) is incorrect

[Option 1D = 27915]

4) Which provision of the Constitution of India facilitated the Parliament of India to enact the Water (Prevention and
Control of Pollution) Act, 19747

[Question ID = 6981]

1. Article 346 [Option 1D = 27918
I_ Article 347 [Option 1D = 27519
3. Article 352 [Option 1D = 2F520)
4. Article 353 |[Option 1D = XF5E1)

Correct Answer -
& Article 352 [Option 1D = 2F520)

5) The Trail Smelter Arbitration (Unites States/Canada), 3 Reports of International Arbitral Awards 1905 (1941) is relevant
in the context of
[Question ID = 6982 ]

1. duty of states not bo cause transboundsny injury [Gption 1D = 279E2)

ce i i i b i i Gl TR U e A

1. duty of states to prevent pollution in outer-space [Option 1D = 27924)

4. duty of states to protect endangered fishes [Option IDyARRE| FirstRankeér.com

Correct Answer --
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[Question ID = 6983]
1. ithe servant acts independent Ly

[Cotion 1D = 27528
¥ the servant hires an outsider

|Cotion 1D = 2T52T)
3. the servant commits assault wiile not in employment

[Cotion 1D = 2T52E)
4. mone of these

[Ootion 1D = 27529
Correct Answer --
& none of these

[Option ID = 27929]

71 On the ground of fosterage a Muslim marriage is .

[Question ID = 6984]
1. Batil

[Option 1D = 27900]
L. Sabih.

[Option b = ¥T931]
1. Fasid.

[Option 1D = 27912]
4. Mula.

[Opticn 1D - 27911]

Correct Answer -
& Bapil,

[Opticn 1D - 27910]

&) Match the legal issues mentioned in List-1 with cases mentioned in List-ll and select the correct answer using the codes

given below:
st T List 1T
Retrospective effect cannot be given to Gandurl Koteswaramma
E::uumﬁ-nrnnuu succession (Amendment) Actlv. Chakirl Yanadi, AIR
boos 2012 SC169
. Children of vold marriage are entitled to a . Sandhya Rand v. Undon
are in the ancestral property in the hands of (of India, AIR 1998 Bam
Fathar 228
ITI. Revana Sidd =
C. Right of a daughter to reopen the partition is TP v
allikarjun, (2011} 11
palid
£c1

0. & Hindu having a dasghter cannot adopt
dausghter under Hindu Adoption and
alntenance Act 1956

W. Prakash v. Phiulawvati,
IR 2016 5C 769

Choose the correct answer from the options given Delow:

[Question ID = 5985]

1. -l B-W,C-1,0-m

[Opticn 1D - 27914]
oA-NLE-I, C-0, 01

[Ogticn 1D - 27915)
1 oa-ilLE-W E-0,D-10

[Option 1D = 27914]
4 K-, B-M,C-1,D-M

[Dpticn ID = 27937
www.FirstRanker.com
——————Carr ety

® 4-0, B-M.C-1,0-1
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given below:
L ist 1 List 11

b Rape 1. Mens rea

. Murder fIL. Consent
C.Cheating [171. Dishonestly
D.Criminal Misappropriation . Fradulently

Choose the correct answer from the options given below:

[Question ID = 6986]
1. A0 B-,C -, b - IV

[Option ID = 27914]
EooA-0, -0 -, -

[Opticn iD - 27914]
OA-LBE- -, D-m

[Option 1D = 27940
4 A-N,B-LC-I,D-m

[Option b = ¥T941]
Correct Answer -
& LN, 8-01,C-0, D-m
[Option b = ¥T941]

10) Which among the foll
[Question ID = 6987]

1. Mens rea may be dispensed wiith when the object of the Act will be frustrated by its inclusion. [Option ID = 27590]
I_ Submission by the woman is 3n indication in all ciroumstances that the sexusl srtercourse was with ber consent. [Option 1D = 27941)
3. There can be no offence of kijdnapping if the object of kidrepping & not #legal or immoral. [Gption 1D = 37944)
4. The person who picks up the Rold ring he finds on the road and keeps it with them, commits the offence of theft. [Option 1D = 27545)

Correct Answer -
& Mens rea may I:re-:lrr.pem'.q.-:l with when the uhpul:l. of the Aot will be frustrabed I:q.l s inclusion. |I'.'|'|:|I:|nn I = 1m1

11} Match the items in column 1 with those in column-2 and select the correct andwer using the codes given below:

ICoduiman I iCiolumin 1T
|- Emtertion L. Free and woluntary
. Dishonestly I1. Foreseeability of consequences and desire for them

C. Fraudulently [IIL Wronghul gain or Wrongful loss
D Consent IV. By deception

Choose the correct answer from the options given Delow:

[Question ID = 6988)
1. -1, B-,C-, D-m

[Option 1D - 27946]
EoA-N,B-mLC-N, B-I

[Option ID = 27947]
oA-NLE-0,C-M, D-1

[Opticn iD - 27%]
4 A-LB-IW,C-m,D-

[Cotion 1D = 27549
Correct Answer --
@ A-0,B-mLC-N,D-I
[Ootion 1D = 27547

12) Akshat places men with firearms at the outlets of a bullding and tells Rajat that they will fire at Rajat, if Rajat attempts
T T Y W T O T T R M Ty O I T e T T eI COne, TE BT

[Question ID = 6989)
1. ‘Wrongful restraint [Option 1D = 27950) www.FirstRanker.com

I_ Criminal intimidation [Option 1D = 37551)
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# ‘Wrongful confinement: [Option ID = 27¥53]

13} Consider the following about the Biological Weapons Convention, 1972:

I. The Bislogical Weapons Comnvention (BWC) is a legally binding treaty that prohibits bislogical arms.

IL India is party to Bislogical Weapons Convention.
Il Chima is not yet a party to Bioslogical Weapans Corvention.
I¥. The Corvention, inter alia, allows state-parties to lodge a complaint with the UN Security Council if they believe ather

member states are violating the Convention.

[Question ID = 6990]

1. 115 coerext

[Ootion 1D = 27954
. | &l are correct

[Option il = ¥T955]
3 1,0l B IV are cormect

[Ootion 1D = 27954
4. | &Il are comrect

[Option b = ¥T95T]
Correct Answer -
& I 1l & IV ane cormect
[Option b = ¥Te56]

the Security Council. Which article of the United Mations 'EIHI'!H’ 1n.'.'nrp-urau.-5 this pn:ﬁ'hlm*
[Question ID = 6991]

1. Articie 1(1), UH Charter [Optjon (D = 27554)

I. article 34, UH Charter [Optiop 1D = ZF959)

3. Article 35, UN Charter [Optioh 1D = TTR60)

4. Article 27, UN Charter [Optich 1D = Z7961)

Correct Answer ==
® Articke 24, UN Charter [Option 1D = 27959)

15) The principle of non-refoulement signifies

[Question ID = 6992 )

1. Mo state should send back: the soylum ssslers to 2 counkry whiere they would face torture, cruelty or inhuman trestment or punishment [Option 1D =
ITanl)

I. A rule of exhavstion of local remedies in internakional human rights [Option 1D = 2P1]

3. The conduct of a State organ shall be cormidered an act of that State, even when this conduct was unauthorized by the state or ultra vires. [Option
1D = XPoda]

4. Reparation may take only the form of pecuniary compensation, including the interest. [Option ID = IT945)

Correct Answer --

% Mo state should send back: the asylum seekers to a country whene they would face torture, cruelty or inhuman treatment or punishment [Option 1D =
Irank)

16) The 262nd report of the Law Commission of India recommended the abalition of death penalty for_ _ _ _

[Question ID = 6993]

1. =il crimes other than child sexusl skure

[Cotion 1D = 27594
I all cimes

[Option b = FTO4T]
3. all crimes other than termorism related offences and waging war

[Option I = 2756E]
4. all offences other than crimes against womsn.

[Option 1D = 27985]

Correct Answer -
- Crmes Oher than Lermorism EnCEs WA war

[Option ID - 2T9E] www_FirstRanker.com

17} Which of the lollowing is not a ‘restorative justice” practice?
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4. Bestitution [Option 1D - 27971)

Correct Answer -
® Probation [Option D = 275F1]

18) Match List | with List Iz {AYT)

List T List IT

Justice K 5 Puttaswamy [Retd. ) v
of India, 20017

. Mavtej Singh Johar v. Union of India, L Compensation to Ackd Attack

1. Living Will

Z018 e lictims

C. Parivartam Eemdra v. Unkon of India, [IIL Decriminalisation of all adult
016 homosex ual Sex

D. Comman Cause w. Unilon of India,

IV. Right to informational privacy

ZO1E

Choose the correct answer from the options given below:

[Question ID = 6995]
1. -, B-1,C-m,D-0

[Opticn 1D - 27974]
OA-N, BN, C-m, B0

[Otion 1D = 27975)
ol B-W,C -0, D

[Opticn 1D - 27974]
4. A-N, B-01,C-0,D-m

[Option 1D - 27977]

Correct Answer -
& A-DN B-M, -0, 01

[Option 1D = 27975]

1%) Match the name of Authors given in List-1 with their books given in List-ll and select the correct answer using the codes

given below:

List I List IT

la- Betty Friedan 1. Sewual Politics

. Kate Millet T1. The femaie Eunuch

C. Germane Greer III. The Feminine Mystique
D. Simone de Beauwoir IV. The Second Sex

Choose the correct answer from the aptions given below:

[Question ID = 6996]
1. &-0, B0, C-, - 1v

[Opticn ID - 2T97H]
POA-ULB-mL,C-0D- 1

[Option 1D = 27979]
oAl E-0,C-0, D1

[Opticn 1D - 279E0]
4. A-N, B-NL, -0, 01

[Option 1D = 27981]

Correct Answer -
& AL 8- C-0, D1

[Option 1D = 27980]

Eike e aeme sl bk 1 sk Coe st
[Question ID = 6997)

1. Copyright protects idea [Option ID = 27562] www.FirstRanker.com

I Patents protect imvention [Dption 1D = L7980
3. A device could be a trademark jon b = 37984
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21) “What is bad in theology is bad in law as well” is said in which of the following cases?
[CQuestion ID = 6998]

1. Young Lawyers' Aszociation v. State of Kerala, 2018 SCC Onlime 5C 1690, [Option ID = ZT988]

I Justice K5, Puttaswammy [Retd.) v. Urion of india, (3017) 1005CC 1 [Option 10 = TTRET)

3. Shayara Bano v. Union of India, (20017) 9 5CC 1 [Option 1D = 27988]
4. Mavte] Singh Johar v Union of india. (201&) 1 5CC 791 [Option D - 2PES)

Correct Answer -
# Shayara Bano v. Union of india, (20017 9 5CC 1 [Option ID = 27988]

22} In which af the following judgments, the Supreme Court of India held that repeated promulgation of the same
Ordinance(s) was a fraud on the Constitution?

[Question ID = 6999]

1. Raja Ram Pal v. Hon'ble Speaker of Lok Sabha, (2007) 3 5CC 184 [Optaon 1D = 27990]

I_ State of Bihar v. Chanmila Dasi, 1959 SCR Swupl. (2] 401 [Option 1D = 27991
3. L. Wadhwa v. State of Biar, 1987 SCR (1) T98 [Option 1D = 27953)
4. %R Bommai v. Union of india, (1994) 3 SCC 1 [Option D = 27993

Correct Answer -
® [O.C. Wadhwa v. State of Bihar, 1987 5CR (1) T98 [Option 1D = 27992)

23) According to Article 164{4) of the Constitution ol India, which of the foellowing staterments is correct:

[Question ID = 7000)

1. A Minister who for any period of six consecutive months is not a member of the Legislature of the State, shall at the expiration of that period,
cease to be a Mimster. [Option 1D = 27994]

I_ A Minister whio for any period of three consecutive months is not a member of the Legisiature of the State shall, at the expiration of that period.
ceage to be a Mimister. [Option 1D = 2799%)

3. A Minister who for any pe of six consecutive months is not a member of the Legstature of the State shall, at the| expiration of that period,
ceaze to be a member of the|House. [Option ID = 2794096]

4. & Minister whio for any of three consecutive months is not a member of the Legislature of the State shall, at the expiration of that period.
ceage to be a member of the|House. [Option 1D = 279497)

Correct Answer --

® A Minister who for any pe
ceage to be & imister. [Opt

of six consecutive months is not 2 member of the Legisiature of the State, shall at the| expiration of that periad,

il
T

24) Which ane of the following Committess/Commissions dealt with the subject of Local sell Government?

[Question ID = 7001

1. Balwant s ebta Committes [Option 1D = 2T959E)

I_ Kothar Commission [Option 1D = 27999)

1. Veerappa Moily Committee [Option B = ZB000]

4. M.H. Venlatachaliah Commission [Option B = 280017

Correct Answer =-
# Balwant Rad Mehta Committes [Dption 1D = 2F9E)

25) Which law officer has the right to speak in both Houses of the Indian Parliament?

[Question ID = 7002 ]
. Solicitor Gemeral

[Option i = HEA00]
¥ Adwocate General

[Option |0 = HEOOY]
3. Attorney General

[Option iD= HEh0]
4. Mome of these

[Option 1D = 28005]

Correct Answer =-
# Attorney General
[Option |0 = HE004]

26} Which of the following statements is/are not correct?
(i} A good sample must represent the entire poptivnEirstRanker.com

(i) & study population and target population are not necessarily the same.
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1. (i} and {f) are incormect

[Cotion 1D = 2800
I. Oaly i} & incorrect

[Cotion 1D = 28007
3. Onmly fiv) is incommect

[Option i = HEH0E]
4. Mome of these

[Option 1D = 28009

Correct Answer --
& Only fiv) is noomect

[Option ID = 2E00]

27) Find the odd ane out frodm the following
[Question ID = T004)

1. Hull hypothesis [Option iD= 28010)

I_ independent and dependenit varables [Option 1D = 280M1]
1. Pejorative techinigue [Option 1D = Z801Z)

4. Alterrative hypothesi [Option 1D - 280113]

Comect Amswer -
» Pejorative techinigue [Option 1D = Z801Z)

28) Find the odd one out from the following
[Question ID = 7005]
1. Purposive sampling [Option ID = H8014]

I. Chuter sampling [Option 1D
1. Snowball sampling [Option ID|= 2E014]

4. Quota samplirg [Option 1D =

Correct Answer --

29) “Controlled group’ is &
[Question ID = 7006]
1. Mistorical reseanch [Option 1D = 28018)

I. Survey reseanch [Option 1D = 28019)
1. Experimental reseanch [Option 1D = ZBO20)

4. Descriptive research [Option 1D = 28031]

Correct Answer -
® Experimental reseanch [Option 1D = Z8020]

30) Unlike researchers who seek causal determination, prediction and generalization of findings,
researchers seek illumination, undersianding and extrapolation to similar situations.

{Fill in the blanks choosing appropriate terms given below)
[Cuestion ID = FOOT)

. quantitative, qualitative [Option 1D - 2800F)

- exploratory, descriptive [Option 1D = 28021)

. doctrinal, empirical [Option D = 28034]

casual, professional [Option I = 280325]

:hl.-'H—'

Correct Answer --
® quantitative, qualitative [Option 1D = 28002)

31) What is the theory which is developed by entering the fieldwork phase without a hypothesis, thereafter describing
what happens and, on the basis of abservation, formulating explanations about why it happens?

[Question I = 7008

1. Descriptive theory [Option 1D = ZE024]
I_ Relational theory [Option 1D = 28027]

3. Correlational theory [Option 1D = 28028]
4. Grounded theory [Option 1D = 280049)

Comach Ao o
# Grounded theory [Option ID = 28029]
- www.FirstRanker.com

31) Experimental hiypothesis-testing research is a research in which——
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4. mo mampulaticns of the vartables are done. [Option 1D = J8013)

Correct Amswer =-
% the independent vanable is manipulated. [Option I - Z8030)

33) Dectrinal research

[ Question ID = 7010]

1. 1} lis the theoretical study where mostly secondary sowrces of data are wsed to seek o arewer one or two kegal propositions or questions or
doctrines. [Option I = 28004])

I_ I} involves analysis of cave laws, amanging, onrdering and systematizing begal prepositions [Option 1D = 28035]

3. ¥} ks a way of gaining knowledge by means of direct and indirect observation or experience. [Option 1D = 280%4)

4. &) Both {1} and {2 [Option i = 2803T)

Correct Answer --
# &) Both (1) and 2] [Option I = 2B037)

34) Stratified sampling i

[Question ID = 7011]

1. a probabdlity method of sampling used when the population is heterogeneous. [Option 1D = 2B038)

I sometimes refemmed to 2 selecting sample by “Bit and miss’ method. [Option 1D = ZB039)

1. atype of profability sampling in which sample members from a larger population are selected according to a random starting point and a fixed
periodic interval. [Option 1D = J804)

4. also known as referral sampling. [Option 1D = 28041]

Comrect Amswer --
% a probabdlity method of sampling used when the population is beterogensous. [Option 1D = ZH038)

35) The most effective approach te conduct a study on the cause - effect of climate change in the National Capital Region
would be throwgh
[Questien ID = 7012]
1. Experimental research [Optign D = 28043)
I_ Historical ressanch [Opticn | = 28043

3. Exploratory research [Option |0 = 380d4)
4. Descriptive research [Option |ID = 28045)

Correct Answer -
# Experimental research [Option 1D = 28043)

36) Pre-determined questions which allow anly a few alternative ways of answering is called
[Question ID = 7013]
- Open ended Structured questions [Option 1D = 38048
- Closed ended Uinstructured guestions [Option 1D = 28047]
- Clozed ended Structured guestions [Option 1D = 28048)
. chotomous questions [Option 1D = 2B04%]

.hl.-H—-

Correct Answer =-

# Closed ended Structuned questions [Option ID - ZB048]

37) M. Raj conducts a study in a residential colony. He divides the families living in that area into five mutually exclusive
groups in terms of annual income. From each group, he selects 20% of the sample who are accessible to him. Which
sampling techmique has he used in this study?

[Question ID = 7014]

1. Stratified sampling [Option 1D = 2B050]

I. Stratified proportionate sampling [Option 1D = 2B051)

1. Quota smpling [Option 1D = Z805Z)

4. Systematic sampling [Option 1D = 28051)

Correct Amswer =-
# Quota sampling [Option ID = 3BO5E)

38) Match the terms in List-l with the most appropriate options in List-Il and select the correct answer using the codes

given below:

ist T ™5

b B Studic I. Hypothesis

[p. variables I1. Focus Group Discussion

P Universe . I.'.h'h:nirn‘. .FI l“ I - com
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[Option 1D = 28054]
EoA-NLE-IW,C-m,D-1LE-%

[Option ID - JEOS5]

A-,B-LC-m,D-¥E-m
[Option ID - 28054]

A A-N,B- 0, i, B i, E -
[Option ID - JEOST]

Correct Answer -
® 4-W E-LC-,D-%E-N

[Opticn 1D - 28054]

39) Choose the odd one out.
[Question ID = 7016]

1. Morminal variable [Option ID = ZBOSH]

I_ Ordinal variable [Opkicn 1D = ZB059)

3. Dichotomous variable [Option B = 2B060]
4. Continuous variable [Option 1D = 28061]

Correct Answer ==
# Contimuous variable [Option 1D = 28061)

40) Statement A' Qualitative ressarch may be done to understand the emic perspective.

Statement B: People or culture perceive a phenomenon from their perspective and ascribe their own ‘meanings’ to such a
phenomenon.

Which of the following stapements is correct about statements A and B above?

[Question ID = 7017]

1. Only statement A is cormect.

[Option D = HE063]
I. Only statement B is comrect.

[Option ib = HEda1]
1. Both statements are correct and statement B & the reazon for statement A

[Cotion 1D = 2E0)
4. Both statements are correct but statemmenit A is and statement B are unrelated.

[Opticn 1D - 28045]

Correct Answer -
& Both staternents ane cormect and statement B & the reazon for statement A
[Option 0 = HEdd]

41) Read the lollowing statements:

a) Random sampling is the method of selecting sample that is easily/readily accessiblefavailable for administering the data
collection tool.

b Focus Group Discussion is used to gain insights into people’s shared understanding of everyday life in a quantitative
research.

c) Observational method of study may be used both in guantitative and gualitative researches.

dj If a researcher wants to study the impact of the Right of Children to Free and Compulsory Education, 2009 over a period
of time, he or she will conduct cross-sectional study.

e} The conclusion that one draws from the tabulated data collected through fieldwork is called interpretation of data

which of the above statements are true?

[Question ID = 7018]

1. {ak (b} and je) ane true

_m.n i g

I bj, ich and jd) HN;I:I'I.E'
[Option ID = Z80T] www.FirstRanker.com

3. Only ibh is true
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Correct Answer -
& Only ib) is true

[Opticn ID - DE06]

www.FirstRanker.com www.FirstRanker.com

42) W you wish to conduct a research to find out why people in X city choose mediation over other alternative dispute
resolution mechanisms for resolving Y type of disputes, where you have no idea of the reason at all, what type of research
will you do?

Choose from amongst the following, the most suitable scientific research method.

[Question ID = 7019]
1. Mon-doctrinal quantitative research, wherein the untverse will be people in X oity who chome mediation, Sampling Technigue: simple random
sampling, Tool: Questionnaire with structured close ended guestions.

[Cotion 1D = 28070
I Mor-doctrinal qualitative research, wherein the undverse will be people who chose mediation for ¥ type of disputes; Sampling techmigue: judgmental
zampling, Tool: interview schedule.

|Cotion 1D = 28071)
3. Empirical guantitative reseanch, Universe: people in X city who have ¥ type of disputes, Sampling Tedhmigue: two sets of samples to be seldected,
onie set consisting of those who use mediation and another wha didn't, through purposive sampling. Tool: cheervational study.

[Option b = HEATFY]
4. Empirical qualitative research, wherein the universe will be people in X city who chose mediation for Y type of disputes, Sampling technique: simple
random sampling, Tool: interview, wsing semi-structured questions.

[Option 1D - 28073

Correct Answer --

® Empirical qualitative
random sampding, Tood:

[Opticn ID - 28071]

» Using sevi-structured questions.

43) Which of the foll
[Question ID = 7020]
. Jucgmental sampling [Option|ID = 28074]
- Bandom sampling [Option 1D = 28075)

- Chster sampling [Option 1D = Z8076]
. Stratified sampling [Option 1D = XB0TT]

is a non-probability samgding?

i e P ==

Comect Answer -
» Judgmental sampling [Option 1D = 28074]

44} Which of the following statements is/are intormect?

(i) Review of literature i a form of exploratory research.

(i) Both the alternative hypothesis and null hypothesis of a research has to be either proved or disproved at the same time.
(i} In an aptitude test, scaling is a very significant part of research.

{iv) Every empirical research must necessarily have a hypothesis.

Choose one of the options given below

[Question ID = 7021]

1. (i} & {n} are incorrect

[Cotion 1D = JE07E)
P (m B (5 are incornect

[Oation 1D = 2800

Y. (fh B {fw] are incorrect

[Option ID = 2E080]

4. Only fiv) is inoommect

[Opticn iD - E0E1]

Correct Answer --
& (m) & (] @re incorrect
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r:l data analysis

Codes::

[Question ID = 7022]

1. a-1,b-2,c-3, d-4, -5

[Cotion ID = 80T
P oa-S.b-Lc-4,d-3 e-1

[Cotion 1D = 280EY)
. a-1.b-S.c-4,d-3, e-2

[Cotion 1D = 2808
4 a-S5b-4c-3d-1,e-2

[Option ib = HEES]

Correct Answer --

@ a-1.b-S.c-4,d-3, -2
|l:':l|:|t|n-n i = JEI:E-II-]

46) What does the term “pised recearch mathod” genarally raler od

[Question ID = 7023]

www.FirstRanker.com

1. Combvination of two data colisction methods. [Option 1D = 28086)
¥ Combination of gualitative alﬂmantlum research methods [Option D = 28EET)

1. Combrination of exploratorny a

analytical reseanch [Option 1D = ZEB0AR]

4. Combrination of two or mone fampling methods: [Option 1D = H0E9)

Correct Answer --

47} What is multiple regression analysis?
[Question ID = 7024]

#® Combination of qualitative and quantitative research methods [Option D = 280ETF)

1. 1) #&nalysis adopbed when researcher has iwo dependent variables which are presumed to be function of one independent variable. [Option ID =

Fiii|

I_ I)analysis adopted when the reseancher has single dependent variable that canmot be measured, but can be classified into Ewo or mone groups on

the basts of some attribute. [Option 1D = Z8091)

1. I)analysis used in case of both measurable and ron-messureable vaniables for the purpose of simultaneously predicting a s=t of dependent

wariables from their joint covariance with a st of independent variables. [Option 1D = ZBRE)

4. &) Both 1.and 3 [Option 1D = 280%)]

Correct Answer --

# 1) Analysis adopted when researcher has two dependent variables which are presumed to be function of one independent varisble. [Option ID =
1E0a0)

48) Match Table & with Table B and select the correct answer using the codes given below:

[rabie - & frable - B
b Arranging in same kind of concise and logical order 1} Class intervals
k) Classification of data 2} Graphs
) Checking for completeness and Interviewing quality B)  Data Cleaning
[} Heip in casily understanding the data ) Tabulation
) Consistency checks 5) Questionnaire
[Question ID = 7025]
1. a-5b-4 c-3, d-1, -2

[Option ID - ZAC]
L a-S b-4 c-2 d-2 e-1

Option 10 = 18055

[Ferien : www_FirstRanker.com

Yy a-4. b-1,c-5 d-3, -2

[Opticn iD - 2E05]
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e a4 b-1,c-5% d-2, -]

[Option 1D - 28057]

49} The process of assigning numerals or other symbols to answers so that responses can be put into a limited number of
categories or classes for efficient analysis is called

[Question ID = T026]

1. Coding [Option I = 2B098]

I. Srandardization [Option D = 28099

1. Systematization [Option 1D = 28100
4. Groupirg [Option 1D = 2E8101)

Correct Answer --
# Cpding [Option I = 2B0498)

30) The process of examining the collected raw data (specially in surveys) to detect errors and omissions and to correct
these when possibke is called
[ Question ID = TO27]
. Editing of data [Option iD= 2&103]
- Data tabulstion [Option D = 28103]
. Data analysis [Option 1D = 2E104)
. Assessment of data [Option 1D = 28105)

.hl.-'l"'I'—'

Comect Answer -
» Editing of data [Option 1D = 28103)
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